SHARP

PA600CM

Ceiling Mount for NP-P547UL, NP-P627UL, NP-PV710UL, NP-PV800UL, XP-P601Q-W, and XP-P721Q-W
Projectors

0

50 Ib
(22.7 kg)

Compatible AEC*,

model/series* | EXT*

1 2015-06-17 #:056-9083-6 (2024-09-11)



A WARNING

ENG - This product is designed to be installed on wood joist/beam or solid concrete ceilings. Hardware is
included for wood joist/beam and solid concrete installation. Before installing make sure the supporting surface
will support the combined load of the equipment and hardware. Screws must be tightly secured. Do not
overtighten screws or damage can occur and product may fail. Never exceed the Maximum Load Capacity.
Always use an assistant or mechanical lifting equipment to safely lift and position equipment. This product is
intended for indoor use only. Use of this product outdoors could lead to product failure or personal injury. Be
careful not to pinch fingers when operating the mount. For support please call customer care at 1-800-865-2112.

| Symbols I E

[ENG|WARNING

A Skip to step.
Screws must get at least three
by full turns and fit snug.

Do not overtighten screws. Front of mount.

Tools Needed for Assembly. n

To properly tighten screws: Tighten until screw
head makes contact, then tighten another 1/2
turn. Do not overtighten screws.

5/32" 5/16"

) (8mm)

=
3
3

2 2015-06-17 #:056-9083-6 (2024-09-11)



Parts (Before beginning, make sure you have all parts shown below).

Parts List
Description Qty Part#

A projector mount assembly 1 055-KPRGU-B-4
B connection block 1 580-1065

C 4mm security allen wrench 1 560-9646

D concrete anchor 2 590-0320

E #14 x 2.5 phillips hex head wood screw 2 581-015-C03

F #10-32 x 3/8" serrated socket pin screw 2 520-1151

G #10-32 x 1/4" socket pin screw 1 520-1196

H washer 2 540-1078

I 2mm security allen wrench (not used) 1 560-1097

J adaptor plate 10.7" x 12.5" 1 10018983-RBLK
K M4 x 25mm serrated socket pin screw 4 510-1082

L spacer 4 10018997

M adaptor plate 12" x 10" 1 10005286-RBLK

A1)

projector mount assembly

D (2)

8mm concrete anchor

-
e

B (1) 1 (1)

connection block

2mm security
allen wrench

4mm security
allen wrench

E (2)

#14 x 2-1/2" wood screw

F(2) G(1) H(2

#10-32 x 3/8"  #10-32 1/4" washer

T E D

M (1)

adaptor plate

J (1)

adaptor plate

K(4) L (4)

M4 x 25mm spacer

3 2015-06-17 #:056-9083-6 (2024-09-11)



ENG|Wood joist/beam Concrete Ceiling Extension Column (not included)

ENG - When installing Peerless ceiling mounts on a wood joist/beam covered with gypsum board (drywall), verify
that the joists or beams are a minimum of 2" x 4" nominal size. Do not install over gypsum board thicker than 5/8".

A

Use stud finder to locate and
mark stud center lines.

Mark mounting holes on stud center lines.

Arrow on top of mount
assembly indicates front
of mount.

4 2015-06-17 #:056-9083-6 (2024-09-11)




5/32" 25" —o--—o | - S
(4mm) (64mm)

Mounting hole must center
on stud.

- )

Drill mounting holes into supporting surface
(2.5" (64mm) minimum depth required).

Install using wood screws provided.

Access slot for open end Wood joist Wood joist

wrench allows tightening
of wood screw.

Access slot for open end
wrench allows tightening
of wood screw.

Maximum 80 in. - Ib (9 N.M.). ‘
7

5 2015-06-17 #:056-9083-6 (2024-09-11)




A WARNING

ENG - When installing Peerless ceiling mounts on a concrete ceiling, the ceiling must be at least 8" thick with a
minimum compressive strength of 2000 psi. Never attach concrete expansion anchors to concrete covered with
plaster, drywall, or other finishing material.

Mark mounting holes.

Arrow on top of mount
assembly indicates front
of mount.

3
J°
S
s}
d

Q \ o "
Drill mounting holes into supporting surface “Io f Y
(2.5" (64mm) minimum depth required). " ©
AN
2.5" o
(64mm) ©
S 1 Vo O.
' O*O 0 .
" 5/16"
5/16
(8mm) (8mm)

6 2015-06-17 #:056-9083-6 (2024-09-11)



. Insert anchor flush to concrete.

D (2)

Install using concrete anchors and wood screws provided.

Maximum 80 in. - Ib (9 N.M.).

2015-06-17 #:056-9083-6 (2024-09-11)



Loosen.

(o]
o

Rotate mount at least three full turns onto EXT or AEC series extension column (sold separately).

[ENG] Tighten.
S

A

8 2015-06-17 #:056-9083-6 (2024-09-11)



For use with For use with
NP-PV710UL, NP-PV800UL, NP-P547UL and NP-P627UL only.
XP-P601Q-W, and XP-P721Q-W
only.

9 2015-06-17 #:056-9083-6 (2024-09-11)



For use with For use with
NP-PV710UL and NP-PV800UL only. XP-P601Q-W and XP-P721Q-W only.

i

10 2015-06-17 #:056-9083-6 (2024-09-11)




" 2015-06-17 #:056-9083-6 (2024-09-11)



Optional security screw.

0]

2015-06-17 #:056-9083-6 (2024-09-11)

S5=) )

=

12




Cable management: adjust pitch then route cables as shown. Ré

Loosen.

13 2015-06-17 #:056-9083-6 (2024-09-11)



ENG|Loosen, adjust, tighten.

14

2015-06-17 #:056-9083-6 (2024-09-11)



SWIVEL (YAW) 360° (when attached to an extension column), +/- 15° (when flush mounted).

e o
— == ¥
e == - 0 U\
1= T
/A ’,-0 \
.l 0 ‘
vl \ ‘\
b ‘I
\ \
VY |
e \
\
| v +/-360°
\ \
\ \
ok
v R
\ \
' Vo
\ \
\ \
U Yo
‘'l o 0 e
\ —F K
0 0 v
T = Jr’—
\ == -
N ‘\ == = N )
L= -7 7
L P
N\ —

AN

15 2015-06-17 #:056-9083-6 (2024-09-11)



Warranty Garantia Garantie Garantie Garantie
Garanzia (CES| Zaruka Zaruka [POR| Garantia Garanti

www.peerless-av.com/warranty * www.peerless-av.com * www.peerless-av.com/patents

SHARP

Peerless-AV Peerless-AV EMEA Peerless-AV B.V. Peerless-AV Latin America

2300 White Oak Circle Unit 2, Curo Park Papendorpseweg 75 Av. de las Industrias 413

Aurora, IL 60502, USA Frogmore, St. Albans, 3528 BJ Utrecht Parque Industrial Escobedo

info@peerless-av.com Hertfordshire, AL2 2DD The Netherlands General Escobedo N.L.,
United Kingdom México 66062

(800) 865-2112
(630) 375-5100 +44 (0) 1923 200 100 +31 (0) 70 770 8037 +52 (81) 8384-8300

© 2024 Peerless Industries, Inc. Peerless-AV® is a registered trademark of Peerless Industries, Inc. All rights reserved.
Other parties’ marks are the property of their respective owners.




